
Flat screen floor stand                     Flatscreen vloersteun 

Flachbild TV/Monitor Ständer                     Support au sol pour écran plat 

Supporto da pavimento per schermo piatto                  Soporte de suelo para pantalla plana  

Suporte de chão para ecrãs planos                     Fladskærm gulvstander 

Näyttöjen lattiateline                     Golvstativ till platta skärmar 

PLASMA-M1900E



PLASMA-M1900E

Step 2

Step 1

Step 3

NL

ES

FR

EN

PT

PL

DE

IT

Monteer de voet 

Assemble the base 

Montage der Füsse 

Montare la base 

Assemblez la base 

Montar la base 

Montar a base 

NL

ES

FR

EN

PT

PL

DE

IT

NL

ES

FR

EN

PT

PL

DE

IT

D (x1)C (x1)

I (x1)

F (x1) G (x1)

H (x1)

B (x2)A (x1)

M8x30 (x4)
K

5mm (x1)
Q

D6 (x2)
O

M6x12 (x8)
L

M8x16 (x4)
N

P (x1)

J (x4)

E (x1)

M5x14 (x4)
M-A

M6x14 (x4)
M-B

M6x30 (x4)
M-C

M8x30 (x4)
M-D

M-F (x4) M-G (x8) M-H (x8)M8x50 (x4)
M-E

M6x10 (x3)
M

Flat screen: 50 kg
Plateau: 5 kg

Shelf: 5 kg
200x200/600x400mm

I

J

P

pin

Tighten the safety screw.

Q
M

inner column

Q

K
D

A

N
Q



NL

ES

FR

EN

PT

PL

DE

IT

 

NL

ES

FR

EN

PT

PL

DE

IT

Step 4

Option

NL

ES

FR

EN

PT

PL

DE

IT

NL

ES

FR

EN

PT

PL

DE

IT

 

NL

ES

FR

EN

PT

PL

DE

IT

 

Step 5

Step 4aOption

Step 6

M-B

M-F

M-A

M-F

G

L

M-C M-D/

M-F

M-G

M-C M-D/

M-F

M-H

M-E

M-F

M-H

M-C M-D/

M-F

M-H
M-G

M-E

M-F

M-H

M-G

M-E

M-F

M-H

M-G



Step 10

Step 11

NL

ES

FR

EN

PT

PL

DE

IT

Kabel verlegen 

 

NL

ES

FR

EN

PT

PL

DE

IT

NL

ES

FR

EN

PT

PL

DE

IT

NL

ES

FR

EN

PT

PL

DE

IT

NL

ES

FR

EN

PT

PL

DE

IT

Step 7

Step 4aStep 8

Step 9

O

M

Q

Q

H
L

C

DVD

Display panel center
height measured
from floor.

+10°

-10°

+90°0°


